Miss Hughes group — Bronze reasoning and problem solving

1a. Harris is using a ten frame and
counters to represent tenths. One counter
is equal to one tenth.

He says,

ai | have made 0.5. }
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Is Harris correct? Explain your answer.
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1b. Sally is using a ten frame and counters
to represent tenths. One counter is equal
to one tenth.

She says,

< i | have made 0.7. ]

Is Sally correct? Explain your answer.
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2d. Which is the odd one out?
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Convince me.

e :

Tenths

Ones

2b. Which is the odd one out?
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3d. Order these humbers from smallest to
largest.

3b. Order these humbers from smallest to
largest.
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